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Gepmelric Formulas

Tormulas for area A, circumference C, and volume V:
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Trigomomefric Fomctions

The Law-of Cosines
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2.) Suppose the distance between two planes must be
maintained at 10 miles. Suppose plane W is north of a
radio tower and moving south while plane G is east of
the same radio tower, If plane G is moving east at 1
mile/second, hov @ jould plane W be moving when
plane G is 6 mile Fro1 adio tdwer?
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3.) A water tank has the shape of an inverted circular
cone with base radius 12 m and height 4 m. Suppose
water is leaking out of the cone at a rate of 5 m?®/min.
while water is being pumped into the cone at a rate of 9
m? /min. Find the rate at which the water level is rising

when the water is 1.5 m deep. 3 ~
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A__Fmd the linearization of /z at x = 4 £lx)=
i.e, find a linear approximatien of \/z for z close to 4.
i.e, find equation of tangent line to /z at z = 4. /
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Approximate v/5

Method 1: Use equation of tangent line
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Method 2 (even easier): Use Ay ~ dy
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Recall: slope of secant line = 2%

Az =z+h—z, Ay=f(z+h)—f(z)= f(z+Az)-f(2)
slope of tangent line = f'(z) = —g—g. Thus dy = f'(z)dz.
If Ax = dx, then Ay ~ dy

fz+ Az) = f(z) + Ay ~ f(z) +dy




the curve becomes almost indistin
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FIGURE 2 Zooming in toward the point (1, 1) on the parabola y = x?






